
PDP

K1

GND

RST

GND

GND

K3

K5

+9...+12B

+5 Â

+9 Â

CPO

GND

JMP5

JMP4

JMP1

K32

K27

K19

K8

K11

GND

FREE PIN

PWDN

KR1

PRENM1/SDI

PRENM0/SCK

KINT7/SCS

KINT6/OUT

KINT4

KINT3

KINT1

KINT0

GND

2 Ê

R1

D4

D3

C2CK

C2D

+VDD

+15...+20B

C2

0,1

R4 470

R3 470

K2

3,3k

R7

+12...+15B

K4

K6

R9

1 K

+3.3 Â

+12 Â

GND

CPO

GND

GND

R13

51

JMP2

JMP3

K10

K36

R14

0

+5...+6B

K30

K26

K18

K9

K24

R19 0

R17 R24

100

+3.3B

GND

KR0

DIRECT

KINT5

KINT8/SDO

KINT2

GND

D2

2.2 ÊÎì

R5

R2 470

30k

R6

1 K

R8

C8

0,01

2.2 ÊÎì

R10

C9
0,01

C11
0,01

C14

0,01

K22

R18

10 ìêÔ 16 Â

C15

R25

100

C21

0,01

3.2 Ê

R26

K33

K29

K21

K14

R6/R7 = (Vout/1,21) - 1 

D5

SR24

D1

3,3k

R12

K7

C10

0,1

C7

10 ìêÔ 10 Â

X4

C6

0,1

3,3k

R23

K12

K31

K28

K20

K15

K25

K34

K35

R21R16

4

5 1

3
* *

TP1

K16

K17

C22
100

C20

0.01
C28

0.1 ìêÔ

C25

1000

C19

0.01

C17

1000

C36

0.1 ìêÔ

C32

1000

C35

0.1 ìêÔ

C31

1000

C1

100 ìêÔ 20 Â

6
GND

2
IN

5
ADJ

4
OUT

3
GND

1
SHDN

*STU

DA1

LT1963EQ

5

6

7

8

9

1

2

3

4

10

X2

2USBDM

3USBDP

4nc

5GND

1+5B

X3

C3

0,1

C5

0,1

6
GND

7
GND

5
SHDN

3
GND

8
IN

2
ADJ

4
BYP

1
OUT

LT1763ADJ
DA2

22k

R11

R11/R12 = (Vout/1,22) - 1 

C4

22 ìêÔ 16 Â

3

4

6

1

5

2

XS2

X5

6
GND

7
GND

5
SHDN

3
GND

8
IN

2
ADJ

4
BYP

1
OUT

DA3

LT1763ADJ

11k

R22

R22/R23 = (Vout/1,22) - 1 

C13

1 ìêÔ

C16

1 ìêÔ

K23

K13

R20

4

5 1

3
* *

TP2

R15

10 ìêÔ 16 Â

C37

R27

2.2 ÊÎì

9
A8

6
A5

3
A2

8
A7

10
GND

2
A1

4
A3

5
A4

1
DIR

7
A6

12
B7

15
B4

18
B1

11
B8

13
B6

16
B3

17
B2

19
OE

20
VCC

14
B574

LV
C2

4
5

DD2

C26

0.1 ìêÔ

C18

1000

C27

0.1 ìêÔ

C23

1000

C24

1000

C33

0.1 ìêÔ

C34

0.1 ìêÔ

C29

1000

C30

1000

1
Vt

4
Vcc

2
GND

3
OUT

U1

9
A8

6
A5

3
A2

8
A7

10
GND

2
A1

4
A3

5
A4

1
DIR

7
A6

12
B7

15
B4

18
B1

11
B8

13
B6

16
B3

17
B2

19
OE

20
VCC

14
B574

LV
C2

4
5

DD3

20

19

18

17

16

15

14

13

12

11

10

9

8

7

6

5

4

3

2

1
X7

2GND
1PWR

X1

470

L3

470

L2

470

L1

6
GND

7
GND

5
SHDN

3
GND

8
IN

2
ADJ

4
BYP

1
OUT

LT1763ADJ

LT1763CS8-3.3

C12

22 ìêÔ 16 Â

10
SCK

19
LFM

23
KINT2

28
INM

8
REFM

13
CPGND

5
R0

27
PRVDD

12
SCS

9
SDI

11
SDO

18
OUT

21
KINT4

22
KINT3

24
KINT1

25
KINT0

1
INP

7
REFP

15
PDP

2
PRGND

4
R1

6
GND

16
IREF

3
DIRECT

14
CPO

26
PWD

17
CPVDD

20
VDD

MF

12
8
8
Ï
Ë
1Ó

D6

32
P2.6

35
P2.3

38
P2.0

39
P1.7

42
P1.4

45
P1.1

1
P0.5

4
P0.2

8
D+

14
C2D

15
P4.7

18
P4.4

21
P4.1

25
P3.5

28
P3.2

11
REGIN

34
P2.4

33
P2.5

31
P2.7

37
P2.1

36
P2.2

44
P1.2

43
P1.3

3
P0.3

2
P0.4

48
P0.6

47
P0.7

9
D-

6
P0.0

5
P0.1

13
RST/C2CK

7
GND

20
P4.2

19
P4.3

27
P3.3

26
P3.4

24
P3.6

23
P3.7

30
P3.0

12
VBUS

29
P3.1

10
VDD

46
P1.0

41
P1.5

40
P1.6

22
P4.0

17
P4.5

16
P4.6

MC

DD1

C8
05

1F
34

0

5

6

7

8

9

1

2

3

4

10

X6



Èí
â. 

¹
  
ïî

äë
.

Âç
àì

. è
íâ

. ¹

Óòâ.

Èçì. Ëèñò

1

Èí
â. 

¹
  
äó

áë
.

Ïî
äï

. è
  
äà

òà
Ïî

äï
. è

  
äà

òà
Ñï

ðà
â. 

 ¹
Ïå

ðâ
.  

ïð
èì

åí
.

ÅÑÊÄ-Ô5-1

Í. êîíòð.

Ïðîâ.

Êîïèðîâàë

Ëèò. Ìàññà

Ñîãëàñ.

Ðàçðàá.

Ò. êîíòð.

 

Ïîäï.

Ëèñò Ëèñòîâ 1

 

 

 

Ôîðìàò A2

Ìàñøòàá
¹ äîêóì. Äàòà
 

Ñõåìà ýëåêòðè÷åñêàÿ
   ïðèíöèïèàëüíàÿ

 
Îòëàäî÷íàÿ ïëàòà 1508ÏË9Ò

 

1

2
+3.3 Â

+9 Â

CPO

GND

+1,5 Â

Ð1 = 18 äÁì

+9 Â

+3.3 Â

GND

GND

CPO

+9 Â

R2/R1 = (Vout/1,5) - 1 

C3

C5

100 ìêÔ 16 Â

R3

C9
0,01

C8

R5

C11

47 ìêÔ 10 Â

C10

R10

C15
1000

C16
1000

+9 Â

C20
1000

Êó = 14 - 20 äÁ

1000

C22

C23
1000

R18

C24
1000

GND

C2

47 ìêÔ 6,3 Â

R2

R4

C14

50 ìÀ ìàõ

R11

C18
4,7 ìêÔ 16 Â

R14

C19
4,7 ìêÔ 16 Â

R17
51

4,9 Â / 65ìÀ

L1

110
R16

IL = 1 - 1,5 dB

R19

N1 dB

R1

C1

R7/R8 = (Vout/1,22) - 1 

C6
0,1 R6

C4
0,1

C7

R8

C13
0,1

C17
0,1

R9

R12

R13 10 Îì

2

13
XZ3

2

1 3
XZ2

5 CR

1 IN

10CF

6OUT

BDCA1-10-40*
U2

2

1 3
XZ1

0,1

C21

X2

X3

2
IN

1
n/c5
n/c

7
V+ 4
V-

3
IN

8
DIS

6
OUT

AD8041

DA1

+9 Â

R7

6
GND

7
GND

5
SHDN

3
GND

8
IN

2
ADJ

4
BYP

1
OUT

U1
LT1763ADJ

C12
0,1

R20

R15
110

5
6
7
8
9

1
2
3
4

10

X1

2
Vt

14
Vcc

3
GND

10
RFVCO

ROS-xxxx
UZ1

2
GND

4
GND

1
IN

3
OUT

DA2
ERA-5SM

Vout = Uvco + Ivco X R10 

N1 = Pout vco + Ky - 18 dB




